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QUESTION 1

An architect is proposing HPE Intelligent Power Discovery service for a customer\\'s new data center. Which component
does the architect need to include in the proposal for this service?

A. HPE Flexible Slot Power Supply, HPE Modular Power Distribution Unit, and HPE 3D Sea of Sensors

B. HPE Common Slot Platinum/Platinum PlusPower Supply, HPE Intelligent Power Distribution Unit, and HPE Insight
C. HPE Uninterruptible Power Supply, HPE Basic Power Distribution Unit, and HPE OneView

D. HPE Multi-Output Slot Power Supply, HPE remote Monitored Power Distribution Unit, and HPE powerAdvisor

Correct Answer: B

QUESTION 2

What are three benefits of the RESTful Interface Tool for enabling the new style of IT? (Select three.)
A. reduced issue resolution time

B. increased high availability

C. easy customization

D. simplified scripting

E. lower facilities costs

F. reduced deployment complexity

Correct Answer: CDE

QUESTION 3

A customer plans to transition from rack mount servers to blade servers. The customer has selected Virtual Connect as
the network interconnect module for the c7000, allowing it to take advantage of network virtualization. The customer
needs an on-premise management strategy that can take advantage of the RESTful API for integration into its Chef
development operations model.

Which protocol should the architect recommend to support and manage the proposed HPE BladeSystem solution?

A. HPE Systems Insight Manager

B. HPE OneView

C. HPE Virtual Connect Enterprise Manager

D. HPE Virtual Connect Manager

Correct Answer: B
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QUESTION 4

A customer is using an HPE BladeSystem c¢7000 enclosure with Virtual Connect 20/40 F8 modules. The customer plans
to improve network redundancy between the VC modules by creating LACP aggregated links from each single VC
module to two different physical ToR switches.

Which HPE networking technology should the architect recommend to the customer?

A. intelligent Resilient Framework (IRF)

B. Spanning Tree Protocol (STP)

C. Multiple Spanning Tree Protocol (MSTP)

D. Open Shortest Path First (OSPF)

Correct Answer: A

QUESTION 5

A customer plans to implement an in-memory analytics application on HPE ProLiant servers. Which processor family
should the architect recommend to the customer?

A. Intel Xeon MP family
B. Intel Xeon E7 family
C. Intel Xeon E3 family
D. Intel Xeon E5 family

Correct Answer: B
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